EARAROBEEIERT — 2 N— IBISH —F

2017534268 (B) 2E$=6H

i >%4%t 5005T UEwl iR

‘ [R1&] /J\Eﬁ‘ [FEERR]  — | 4 (&) 1800M FHE

[A&4] 1 7% :7,500,000 @ 23 :3,000,000 " 33 :1,900,000 3 43 :1,100,000 @ 5 & :750,000 M
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
: N + 5 | REEE 1:53.4 4-5-3-1 |37.9| 97.4 | 3 492 | EARR ()
118]15| Ly RFHILN=2X * 57.0 =) 12 |0 ERA—2L—vy
A4 TAT v — BT7TRXFAXY #"HET7—L4
- . S 44| JIERHE 1:53.8 4-5-5-4 | 38.1( 93.9 | 1 488 | ARFE (RR)
2 6 YPrIM4 X714 X 57.0 2 1/2) 0 ;’Aﬁﬂl@ﬁ
LY ANAYR B:T740-3— NS
= . s €2 5| M F4a-nO 1:54.2 4-3-7-6 |38.2| 90.4 | 2 498 | WEEH (XH)
3 4| bZFF72a-FK O s’ 2 1/2) © |EETF
Riw>NnNy&rh7zx B:Ly RKILUN B2 %Y K
A 5 | HEX 1:54.7 9-8-7-6 |38.8| 86.2 | 15 | 502 |EEZMIL (5Ei)
418l @4y 97— [B] # AB5.0 3) Cio) | ) Th—vzoas b
LA R—3IFk—L BEXEFF I 4
NEF :54. -12-15- . . amEZ (EH)
5l5/g| @70y %— Ho7 N 1(35/42)8 13-12-15-15| 38.1 | 85.0 | 12 ?(1)23 e
L:7I7V—h~ B:IAXT597 YA IHE
. s WDtA(E : 12-7- HEE (E58)
®T7> % kL t> 6| B (11'515/48 12-12-7-6 | 39.0 | 83.7 | 6 :g;t ﬁ?ﬁga
R:xFa1=gyr—X B:wRKII— HEI77—L4
st 5 | HERHA 1:55.2 9-10-13-11 | 38.7 | 81.7 | 11 470 | /MRILE ()
avw o4 57.0 (1 1/4) (-8) paNlIEEDS
R:x—NFZ2Y>7F— F:avs>r #E BB
o N £ 4 | BIEHF 1:55.2 13-12-13-11{ 38.7 | 81.7 | 13 | 436 |EE&E= (5KiMH)
®hyTE2—4y bk G 5 g | (B) 2£0O
:xA1=ZTr—R BiRA—hLT 1 s
s # o4 | BIEIE 1:55.3 2-2-2-2 | 39.9| 81.8| 7 518 | =/ BHF (EH#)
R=> T 57.0 (76) Cay | B HAL=ZE-2
LV RKYTYXIR B:FA—JIITYrE BRTF— L
o Lo ZEAL : —8-16- FINARK (i)
®FYLETIHA o4 S 1(.;5/%5 8-8-16-16 | 38.3 | 78.9 | 16 :?S) @%1%_
R:A—T X224 B:YILIF)ET EFFL BRI
S5 gy = 4 o6 | AIBIEA 1:55.5 3-3-3-2 |40.0| 80.2 | 4 542 | IZEERR ()
1117114 VaHrr1—+F [B] 57.0 7E) ) | A Einigﬁi%
RHYIRGT4 TR B: T34 L01va B3RS
. SN o6 | et 1:55.6 15-15-5-9 | 39.8 | 79.2 | 10 | 474 |HILPA (RX)
Eﬂ 7| 37— FDhoa= %056.0 (172) o) |EUET
R840 BiALT-RFIAFR * 27— Fis
y NSV > 5 | BESEE 1:55.7 16-16-10-11] 39.6 | 78.2 | 5 490 | BDEE (ER)
13/ 1|2 ELIL T bY2T [B] R (7€) oy | OB xv05 k774
LTANKET Yy BiELTLA ba—I J—¥Tr—L
o = o4 | ERE 1:56.0 7-7-10-9 | 39.8| 75.9 | 9 460 | AtESH (ER)
1411 |1 XZ#J'?)I/ [N 57.0 2) (-8) KHBEX
Ri*xfavk—-5— B:Av—byz—7 A w2
= S # o7 | EE#HZ 1:56.1 9-11-12-11 39.7 | 75.0 | 14 | 500 |&# _(FH)
1507113 717 bwTH > 57.0 (1/2) (-6 | BEEX
LY Ny THY BALYIALLE— aF EX
4 5 | AR 1:59.6 1-1-1-4 | 44.2| 555 | 8 484 | MHIEE (/)
16/5/10| / —AE—HA— 57.0 (24 4) “6) | B gyt K77 —L4
R:Z27)—>rke—A—- B:STAXHX7 AR HB
@ 71 L
) 50.5-38.0
NA> &AL | 12.8-11.3-13.5-13.0-12.3-12.5-12.6-12.2-13.2
® I —F—@EBIERL
13=3r= 10,11,14(4,6,15)-1,12(3,13,16)8(5,9)-7,2
2= = 10,11(4,14) (6,15)-1(12,16)3,13(5,9,8)7,2
30—F+-— (x10,11) (14,15) (6,7) (4,16,8) (1,2)13(5,3)9-12
40—F— (11,14,%15) (10,6) (4,16,8) (1,7) (5,3,13,2)9=12
[ N3
BB 15 550M 714K 6-15 620M e E 3-8 1,380 JEHE 4-6-15 2,290/
8 B 15 220M 4-15 680M B = 6-15 1,420 B 15-6-4 12,790M
6 160 4-6 340M B H 15-6 2,990
4 170

ABICOVWTRDTEEERROODE. TR LIV,




